Nora BK
seniorbridgen Hcp 2022-11-08 SCRATCH

Partavling, 6 bord, 11 par. Antal brickor: 20. Medel: 80.0. Frirond (*) ger egen procent.

Plac  Par Poang % Namn MID Klubb
1 2 95.6 59.72  Marianne Thynell - Rolf Molin 52633 82476 Nora BK
1 6 95.6 59.72  Anders Israelsson - Birgitta Karlsson 20924 61461 Nora BK
3 10 90.0 56.25  Agneta Strang Abrahamsson - Asa Lindberg 61460 20366 Nora BK
3 1 90.0 56.25 Lennart Bengtsson - Karl-Gunnar Magnusson 25815 10376 Nora BK
5 4 87.8 54.86 Inga Bystrom - Conny Grund 54124 45515 Nora BK
6 12 82.0 51.25 Harriet Sjogren - Kerstin Krantz Eriksson 9963 63849 Nora BK
7 5 76.7 47.92  Anne-Marie Thell - Berit Jonsson 59527 42639 Nora BK
8 7 73.3 45.83 Irene Haberger - Bengt Johansson 55643 10368 Nora BK
9 8 72.2 45.14 Kjell Abrahamsson - Roger Thynell 61459 52632 Nora BK
10 3 62.2 38.89  Ylva Fossan - Lars Ove Lofborg 64782 64784 Nora BK
11 9 54.4 34.03 Stein Fossan - Carl Ericsson 64783 200057 Nora BK
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
4 3 3vV-2 a2 100 70 10| 4 3 44 S= *2 620 70 10| 1 7 4vyRDS= 49 880 8.0 0.0
7 5 340-2 *] 100 70 10| 7 5 44 S= +3 620 70 10| 5 4 4vS= 43 420 40 4.0
12 8 24 0-1 *] 50 40 40| 9 2 1la S+2 +3 140 3.0 50 8 6 4v S= »8 420 40 4.0
10 6 4vS-2 *9 -100 2.0 60(10 6 14 S+2 +3 140 30 5010 3 4vS= *4 420 40 4.0
9 2 3NV+1 *Q -430 0.0 80|12 8 2¢ S= 49 90 0.0 80| 9 12 4vy N-1 *Q -50 0.0 8.0
-1 45( - 1 45 - 2 4.8
4 Vvast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
1 7 INO+1 *4 -120 8.0 00 2 8 2NV= 43 -120 8.0 00| 2 8 44 S= vT 420 7.0 1.0
5 4 3NV= 43 -600 5.0 3.0 6 5 3NV+1 a2 -430 4.0 40| 6 5 44 S= vQ 420 7.0 1.0
10 3 3NO= *4 -600 5.0 3.0 9 7 3NV+1 49 430 4.0 40| 9 7 5vV-1 s A 100 40 4.0
8 6 3NV+1 43 -630 2.0 6.0(12 10 3NV +1 a2 430 4.0 40|12 10 44 S-1 v2 -50 2.0 6.0
9 12 3NV +2 43 -660 0.0 80| 1 4 3vDN-2 *8 -500 0.0 80| 1 4 4v 0= s A -620 0.0 8.0
- 2 48| - 3 31| - 3 3.1
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
7 6 24 S+2 +8 130 80 00| 7 6 540-1 +*J 50 80 00| 1 9 2¢S= &A 90 8.0 0.0
3 9 34S-= *T 110 6.0 20| 1 12 2¢DN-1 *A -100 6.0 20| 8 7 4¢ S-2 *] -100 6.0 2.0
2 5 2vN-1 +6 -100 3.0 50 3 9 1lv V+2 LN -140 4.0 40| 3 6 3vO+1 ¢A -170 4.0 4.0
10 8 3v N-1 +Q -100 3.0 50 2 5 3#V+2 vQ -150 1.0 7.0(12 2 3vV+2 *4 -200 2.0 6.0
1 12 4v N-2 a4 -200 0.0 80|10 8 440+1 *J -150 1.0 70| 4 10 4v O= *A -620 0.0 8.0
- 4 44 - 4 44| - 5 3.8
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
8 7 6¢ S+l vyK 1390 80 00 9 8 5¢V-1 *A 50 80 00| 4 7 1vyRDN+1 &A 1120 8.0 0.0
1 9 3NN+4 *9 720 6.0 20| 2 10 3¢ V+1 aJ -130 5.0 3.0 3 12 24 S= v4 110 6.0 2.0
12 2 24 N+4 va 230 40 40| 3 12 3¢ V+1 *A -130 5.0 3.0 2 10 34 N-1 vA -100 4.0 4.0
3 6 14 N+2 vT 140 20 60 5 1 34S-3 »5 -150 2.0 60| 5 1 44S-2 vJ] -200 1.0 7.0
4 10 5¢ V+2 vK -640 0.0 80| 4 7 54DN-4 + K -800 0.0 80| 9 8 34 N-2 vA -200 1.0 7.0
- 5 38| - 6 48| - 6 4.8
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
5 8 2vV-1 ¢ A 100 80 00| 5 8 3NO-2 *A 100 70 10| 7 3 2v S+l *A 140 8.0 0.0
10 9 Pass 6.0 20 6 2 4v0O-2 a5 100 70 10| 4 2 INV= +3 -90 5.0 3.0
3 1 INV= +9 90 3.0 50| 3 1 2NO-1 &A 50 40 40| 6 9 INV= *4 -90 5.0 3.0
12 4 INO= a5 90 3.0 50|10 9 2NO= 2 -120 2.0 60| 5 12 3v S-1 *A -100 2.0 6.0
6 2 1laV+l *4 -110 0.0 80|12 4 2NO+1 +6 -150 0.0 80| 1 10 INV+1 .7 -120 0.0 8.0
-7 371 - 7 37| - 8 3.6
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr ut Res  Poang Par Kontr ut Res  Poéang Par Kontr ut Res  Poéang
6 9 24S-1 *3 50 80 00| 2 1 44 S= &K 420 70 10| 5 3 14 S= *3 80 8.0 0.0
1 10 24 S-2 vT -100 6.0 20| 5 3 44 S= &K 420 70 10| 8 4 INO= s A -90 6.0 2.0
4 2 INO+1 &K -120 4.0 40|12 6 1¢ N+2 v4 110 40 40| 2 1 24 S-1 &T -100 2.0 6.0
7 3 24S-3 vT -150 2.0 6.0 7 10 3NN-1 *4 -50 2.0 6.0| 7 10 24 S-1 &T -100 2.0 6.0
5 12 34DS-3 vT -500 0.0 80| 8 4 3¢ N-2 *A -100 0.0 80|12 6 14 S-1 v5 -100 2.0 6.0
- 8 36| - 9 271 - 9 2.7
19 Syd OV 20 Vast Alla
Par Kontr ut Res  Poéng Par Kontr ut Res  Poéng
9 5 44 S= v9 420 80 00| 6 4 1v N+2 48 140 8.0 0.0
6 4 1sV-2 *4 200 6.0 20| 3 2 4v N-1 4Q -100 6.0 2.0
7 12 24 S+2 v9 170 40 40| 8 1 24 V+1 vQ -140 4.0 4.0
8 1 14 S+2 6 140 20 60 9 5 3aV+1 vJ -170 2.0 6.0
3 2 4v0-1 s A 100 0.0 80| 7 12 1v N-2 4Q -200 0.0 8.0
- 10 45( - 10 4.5
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